



SEAT NO	NAME	COURSE-I				COURSE-II				COURSE-III				COURSE-IV				COURSE-V				TOT 30			
		THEORY	PRAC	C	G	THEORY	PRAC	C	G	PRAC	C	G	PRAC	C	G	PRAC	C	G	PRAC	C	G		äC	äCG	RSLT
43: MEDICAL LAB. TECHNOLOGY		:BMLT305 :CLINICAL LABORATORY OPERATIONS AND MANAGEMENT				:BMLT308 :FOOD AND INDUSTRIAL MICROBIOLOGY				:BMLT306 : PROFESSIONAL TRAINING				:BMLT307 : PROJECT WORK				:BMLT309 : SKILL COMPONENT - III							
3018945	/CHAVAN NIKITA RAVINDRA MANISHA (O.2462)	33E	13E	46	2 C	5	10	20F	10E	--	--	--	--	147E	3	A+	9	27	141E	3	A+	9	27		F
	VIKAS- VIKHROLI			34E	1 A	8	8		41E	1	O	10	10	469E	18	A+	9	162					28	244	--
	Semester I -CREDIT:30 GP:209 SGPI1: 6.97	Semester II -CREDIT :30 GP:160 SGPI2: 5.33				Semester III -CREDIT :30 GP:172 SGPI3: 5.73				Semester IV -CREDIT:30 GP:258 SGPI4: 8.60				Semester V -CREDIT :30 GP:225 SGPI5: 7.50				Semester VI -CREDIT : ---							
3018946	/CHAVAN SHWETA GANESH RAKHI (O.2462)	52E	15E	67	2 A	8	16	22F	11E	--	--	--	--	138E	3	A	8	24	152E	3	A+	9	27		F
	VIKAS- VIKHROLI			36E	1 A+	9	9		39E	1	A+	9	9	529E	18	O	10	180					28	265	--
	Semester I -CREDIT:30 GP:230 SGPI1: 7.67	Semester II -CREDIT :30 GP:199 SGPI2: 6.63				Semester III -CREDIT :30 GP:168 SGPI3: 5.60				Semester IV -CREDIT:30 GP:254 SGPI4: 8.47				Semester V -CREDIT :30 GP:234 SGPI5: 7.80				Semester VI -CREDIT : ---							
3018947	/GUPTA ANJALI SHIVJI SUNITA (O.2462)	58	19	77	2 A+	9	18	48	17	65	2	A	8	166	3	O	10	30	176	3	O	10	30		P
	VIKAS- VIKHROLI			44	1 O	10	10		39	1	A+	9	9	537	18	O	10	180					30	293	9.77
	Semester I -CREDIT:30 GP:277 SGPI1: 9.23	Semester II -CREDIT :30 GP:284 SGPI2: 9.47				Semester III -CREDIT :30 GP:292 SGPI3: 9.73				Semester IV -CREDIT:30 GP:298 SGPI4: 9.93				Semester V -CREDIT :30 GP:290 SGPI5: 9.67				Semester VI -CREDIT :30 GP: 0 SGPI6: 9.77				FINAL CGPI 9.63			
3018948	/GUPTA ANUSHKA RAMSHANKAR PARVATI (O.2462)	60	22	82	2 O	10	20	61	24	85	2	O	10	168	3	O	10	30	171	3	O	10	30		P
	VIKAS- VIKHROLI			45	1 O	10	10		47	1	O	10	10	530	18	O	10	180					30	300	10.00
	Semester I -CREDIT:30 GP:281 SGPI1: 9.37	Semester II -CREDIT :30 GP:300 SGPI2:10.00				Semester III -CREDIT :30 GP:296 SGPI3: 9.87				Semester IV -CREDIT:30 GP:300 SGPI4:10.00				Semester V -CREDIT :30 GP:287 SGPI5: 9.57				Semester VI -CREDIT :30 GP: 0 SGPI6:10.00				FINAL CGPI 9.80			
3018949	GUPTA MOHIT SHAILESH KUMAR KUSUM (O.2462)	52	16	68	2 A	8	16	34	10	44	2	D	4	158	3	A+	9	27	135	3	A	8	24		P
	DEVI VIKAS- VIKHROLI			37	1 A+	9	9		39	1	A+	9	9	525	18	O	10	180					30	273	9.10
	Semester I -CREDIT:30 GP:255 SGPI1: 8.50	Semester II -CREDIT :30 GP:222 SGPI2: 7.40				Semester III -CREDIT :30 GP:206 SGPI3: 6.87				Semester IV -CREDIT:30 GP:278 SGPI4: 9.27				Semester V -CREDIT :30 GP:241 SGPI5: 8.03				Semester VI -CREDIT :30 GP: 0 SGPI6: 9.10				FINAL CGPI 8.19			
3018950	/GUPTA SHWETA ASHOK CHANDA (O.2462)	62	20	82	2 O	10	20	50	23	73	2	A+	9	174	3	O	10	30	175	3	O	10	30		P
	VIKAS- VIKHROLI			36	1 A+	9	9		42	1	O	10	10	565	18	O	10	180					30	297	9.90
	Semester I -CREDIT:30 GP:252 SGPI1: 8.40	Semester II -CREDIT :30 GP:272 SGPI2: 9.07				Semester III -CREDIT :30 GP:256 SGPI3: 8.53				Semester IV -CREDIT:30 GP:292 SGPI4: 9.73				Semester V -CREDIT :30 GP:291 SGPI5: 9.70				Semester VI -CREDIT :30 GP: 0 SGPI6: 9.90				FINAL CGPI 9.22			
/ - FEMALE, # - 0.229 ,@ - 0.5042, * - 5045 , ADC - ADMISSION CANCELLED, RR-RESERVED, --:Fails in Theory or Practical,RPV - PROVISIONAL, RCC - 0.5050, A,ABS - ABSENT , F - FAILS, P - PASSES, NULL-NULL & VOID																									
G:grade GP:gradepoints C:credits CP:credit points äCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668																									
äC:sum of credit points GPA: äCG /äC																									
MARKS : >=80 >=70 and <80 >=60 and <70 >=55 and <60 >=50 and <55 >=45 and <50 >=40 and <45 <40																									
GRADE : 0 A+ A B+ B C D F																									
GRADE POINT : 10 9 8 7 6 5 4 0																									

SEAT NO	NAME	COURSE-I					COURSE-II					COURSE-III					COURSE-IV					COURSE-V					TOT 30					
		THEORY	PRAC	C	G	GP	THEORY	PRAC	C	G	GP	THEORY	PRAC	C	G	GP	THEORY	PRAC	C	G	GP	THEORY	PRAC	C	G	GP		äC	äCG	RSLT		
43: MEDICAL LAB. TECHNOLOGY		COURSE I :BMLT305 :CLINICAL LABORATORY OPERATIONS AND MANAGEMENT					COURSE II :BMLT308 :FOOD AND INDUSTRIAL MICROBIOLOGY					COURSE III : BMLTP306 : PROFESSIONAL TRAINING					COURSE IV : BMLTP307 : PROJECT WORK					COURSE V : BMLTP309 : SKILL COMPONENT - III										
3018951 /JADHAV ARPITA MANGESH SUREKHA (O.2462)	VIKAS- VIKHROLI	35E	12E	47	2	C	5	10	23F	12E	--	--	--	--	--	154E	3	A+	9	27	158E	3	A+	9	27				F			
				35E	1	A+	9	9			40E	1	O	10	10	535E	18	O	10	180						28	263	--				
		Semester I -CREDIT:30 GP:230 SGPI1: 7.67					Semester II -CREDIT :30 GP:163 SGPI2: 5.43					Semester III -CREDIT :30 GP:166 SGPI3: 5.53					Semester IV -CREDIT:30 GP:250 SGPI4: 8.33					Semester V -CREDIT :30 GP:216 SGPI5: 7.20					Semester VI -CREDIT : ---					
3018952 /KAMBLE AARTI TANAJI CHHAYA (O.2462)	VIKAS- VIKHROLI	27F	10E	--	--	--	--	--	31E	05F	--	--	--	--	--	128E	3	A	8	24	128E	3	A	8	24				F			
				38E	1	A+	9	9			35E	1	A+	9	9	490E	18	O	10	180						26	246	--				
		Semester I -CREDIT:30 GP:261 SGPI1: 8.70					Semester II -CREDIT :30 GP:135 SGPI2: 4.50					Semester III -CREDIT : ---					Semester IV -CREDIT:30 GP:220 SGPI4: 7.33					Semester V -CREDIT : ---					Semester VI -CREDIT : ---					
3018953 /KAMBLE SARA SAMSOM RITA (O.2462)	VIKAS- VIKHROLI	26F	04F	--	--	--	--	--	18F	04F	--	--	--	--	--	116E	3	B+	7	21	125E	3	A	8	24				F			
				31E	1	A	8	8			35E	1	A+	9	9	451E	18	A+	9	162						26	224	--				
		Semester I -CREDIT:30 GP:251 SGPI1: 8.37					Semester II -CREDIT :30 GP:174 SGPI2: 5.80					Semester III -CREDIT : ---					Semester IV -CREDIT : ---					Semester V -CREDIT : ---					Semester VI -CREDIT : ---					
3018954 /KHAN NUZHA WALIULLAH NASREEN FAT (O.2462)	VIKAS- VIKHROLI	40E	12E	52	2	B	6	12	23F	14E	--	--	--	--	--	151E	3	A+	9	27	154E	3	A+	9	27				F			
				37E	1	A+	9	9			38E	1	A+	9	9	535E	18	O	10	180						28	264	--				
		Semester I -CREDIT:30 GP:238 SGPI1: 7.93					Semester II -CREDIT :30 GP:172 SGPI2: 5.73					Semester III -CREDIT :30 GP:180 SGPI3: 6.00					Semester IV -CREDIT:30 GP:252 SGPI4: 8.40					Semester V -CREDIT :30 GP:189 SGPI5: 6.30					Semester VI -CREDIT : ---					
3018955 KHAN SOHAIL MOHD ARIF ZAKRUNNISH (O.2462)	VIKAS- VIKHROLI	29F	05F	--	--	--	--	--	16F	10E	--	--	--	--	--	106E	3	B	6	18	127E	3	A	8	24				F			
				30E	1	A	8	8			35E	1	A+	9	9	451E	18	A+	9	162						26	221	--				
		Semester I -CREDIT:30 GP:246 SGPI1: 8.20					Semester II -CREDIT :30 GP:130 SGPI2: 4.33					Semester III -CREDIT :30 GP:150 SGPI3: 5.00					Semester IV -CREDIT:30 GP:220 SGPI4: 7.33					Semester V -CREDIT :30 GP:168 SGPI5: 5.60					Semester VI -CREDIT : ---					
3018956 /KHAN TARANUM JAHAN FAKHRUDDIN S (O.2462)	VIKAS- VIKHROLI	30E	10E	40	2	D	4	8	23F	11E	--	--	--	--	--	126E	3	A	8	24	137E	3	A	8	24				F			
				32E	1	A	8	8			37E	1	A+	9	9	465E	18	A+	9	162						28	235	--				
		Semester I -CREDIT:30 GP:211 SGPI1: 7.03					Semester II -CREDIT :30 GP:154 SGPI2: 5.13					Semester III -CREDIT :30 GP:160 SGPI3: 5.33					Semester IV -CREDIT:30 GP:250 SGPI4: 8.33					Semester V -CREDIT :30 GP:160 SGPI5: 5.33					Semester VI -CREDIT : ---					
/ - FEMALE, # - 0.229 ,@ - 0.5042, * - 5045 , ADC - ADMISSION CANCELLED, RR-RESERVED, --:Fails in Theory or Practical,RPV - PROVISIONAL, RCC - 0.5050, A,ABS - ABSENT , F - FAILS, P - PASSES, NULL-NULL & VOID																																
G:grade GP:grade points C:credits CP:credit points äCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668																																
äC:sum of credit points GPA: äCG /äC																																
MARKS : >=80 >=70 and <80 >=60 and <70 >=55 and <60 >=50 and <55 >=45 and <50 >=40 and <45 <40																																
GRADE : 0 A+ A B+ B C D F																																
GRADE POINT : 10 9 8 7 6 5 4 0																																



SEAT NO	NAME	COURSE-I						COURSE-II						COURSE-III			COURSE-IV			COURSE-V			TOT 30																
		THEORY	PRAC	C	G	GP	C*GP	THEORY 2	PRAC 1	C	G	GP	C*GP	PRAC 3	C	G	GP	C*GP	PRAC 3	C	G	GP		C*GP	PRAC 18	C	G	GP	äC	äCG	RSLT								
COLLEGE		75/30	25/10	100	2	PRAC 1	GP	C*GP	75/30	25/10	100	C	G	GP	C*GP	200/80	C	G	GP	C*GP	200/80	C	G	GP	C*GP	600/450	C	G	GP	C*GP	(COURSE V)	600/450	C	G	GP	äC	äCG	GPA	GRADE
43: MEDICAL LAB. TECHNOLOGY		COURSE I :BMLT305 :CLINICAL LABORATORY OPERATIONS AND MANAGEMENT						COURSE II :BMLT308 :FOOD AND INDUSTRIAL MICROBIOLOGY						COURSE III : BMLTP306 : PROFESSIONAL TRAINING			COURSE IV : BMLTP307 : PROJECT WORK			COURSE V : BMLTP309 : SKILL COMPONENT - III																			
3018963 /PARTE HARSHALI PRADEEP GEETA (O.2462)	VIKAS- VIKHROLI	52	12	64	2	A	8	16	34	16	50	2	B	6	12	153	3	A+	9	27	147	3	A+	9	27													P	
				35	1	A+	9	9			35	1	A+	9	9	555	18	O	10	180							30	280									9.33		
Semester I -CREDIT:30 GP:247 SGPI1: 8.23		Semester II -CREDIT :30 GP:165 SGPI2: 5.50						Semester III -CREDIT :30 GP:214 SGPI3: 7.13						Semester IV -CREDIT:30 GP:262 SGPI4: 8.73			Semester V -CREDIT :30 GP:219 SGPI5: 7.30			Semester VI -CREDIT :30 GP: 0 SGPI6: 9.33			FINAL CGPI 7.71																
3018964 /PATIL RUTUJA SANTOSH SANCHITA (O.2462)	VIKAS- VIKHROLI	59	12	71	2	A+	9	18	26	12	38	2	D	4	8	146	3	A+	9	27	145	3	A+	9	27													P	
				40	1	O	10	10	*		32	1	A	8	8	542	18	O	10	180							30	278									9.27		
Semester I -CREDIT:30 GP:232 SGPI1: 7.73		Semester II -CREDIT :30 GP:202 SGPI2: 6.73						Semester III -CREDIT :30 GP:210 SGPI3: 7.00						Semester IV -CREDIT:30 GP:252 SGPI4: 8.40			Semester V -CREDIT :30 GP:225 SGPI5: 7.50			Semester VI -CREDIT :30 GP: 0 SGPI6: 9.27			FINAL CGPI 7.77																
3018965 /PATIL SANIKA DINKAR DIPALI (O.2462)	VIKAS- VIKHROLI	55	14	69	2	A	8	16	43	14	57	2	B+	7	14	165	3	O	10	30	150	3	A+	9	27													P	
				36	1	A+	9	9			37	1	A+	9	9	500	18	O	10	180							30	285									9.50		
Semester I -CREDIT:30 GP:228 SGPI1: 7.60		Semester II -CREDIT :30 GP:176 SGPI2: 5.87						Semester III -CREDIT :30 GP:174 SGPI3: 5.80						Semester IV -CREDIT:30 GP:258 SGPI4: 8.60			Semester V -CREDIT :30 GP:221 SGPI5: 7.37			Semester VI -CREDIT :30 GP: 0 SGPI6: 9.50			FINAL CGPI 7.46																
3018966 /SAW KHUSHI NAGENDRA SUNAINA (O.2462)	VIKAS- VIKHROLI	60	18	78	2	A+	9	18	55	16	71	2	A+	9	18	168	3	O	10	30	169	3	O	10	30													P	
				42	1	O	10	10			39	1	A+	9	9	532	18	O	10	180							30	295									9.83		
Semester I -CREDIT:30 GP:268 SGPI1: 8.93		Semester II -CREDIT :30 GP:209 SGPI2: 6.97						Semester III -CREDIT :30 GP:218 SGPI3: 7.27						Semester IV -CREDIT:30 GP:276 SGPI4: 9.20			Semester V -CREDIT :30 GP:262 SGPI5: 8.73			Semester VI -CREDIT :30 GP: 0 SGPI6: 9.83			FINAL CGPI 8.49																
3018967 /SAWANT ANUSHKA MANGESH MAYURI (O.2462)	VIKAS- VIKHROLI	46	20	66	2	A	8	16	38	22	60	2	A	8	16	157	3	A+	9	27	151	3	A+	9	27													P	
				44	1	O	10	10			41	1	O	10	10	539	18	O	10	180							30	286									9.53		
Semester I -CREDIT:30 GP:236 SGPI1: 7.87		Semester II -CREDIT :30 GP:201 SGPI2: 6.70						Semester III -CREDIT :30 GP:210 SGPI3: 7.00						Semester IV -CREDIT:30 GP:266 SGPI4: 8.87			Semester V -CREDIT :30 GP:246 SGPI5: 8.20			Semester VI -CREDIT :30 GP: 0 SGPI6: 9.53			FINAL CGPI 8.03																
3018968 /SAWANT SAHIL SANTOSH SAMIKSHA (O.2462)	VIKAS- VIKHROLI	51	18	69	2	A	8	16	50	19	69	2	A	8	16	140	3	A+	9	27	159	3	O	10	30													P	
				44	1	O	10	10			36	1	A+	9	9	528	18	O	10	180							30	288									9.60		
Semester I -CREDIT:30 GP:238 SGPI1: 7.93		Semester II -CREDIT :30 GP:192 SGPI2: 6.40						Semester III -CREDIT :30 GP:178 SGPI3: 5.93						Semester IV -CREDIT:30 GP:260 SGPI4: 8.67			Semester V -CREDIT :30 GP:244 SGPI5: 8.13			Semester VI -CREDIT :30 GP: 0 SGPI6: 9.60			FINAL CGPI 7.78																

/ - FEMALE, # - 0.229 ,@ - 0.5042, \* - 5045, ADC - ADMISSION CANCELLED, RR-RESERVED, --:Fails in Theory or Practical,RPV - PROVISIONAL, RCC - 0.5050, A,ABS - ABSENT, F - FAILS, P - PASSES, NULL-NULL & VOID  
G:grade GP:grade points C:credits CP:credit points äCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668

äC:sum of credit points GPA: äCG /äC  
MARKS : >=80 >=70 and <80 >=60 and <70 >=55 and <60 >=50 and <55 >=45 and <50 >=40 and <45 <40  
GRADE : 0 A+ A B+ B C D F  
GRADE POINT : 10 9 8 7 6 5 4 0

SEAT NO	NAME	COLLEGE	COURSE-I				COURSE-II				COURSE-III				COURSE-IV				COURSE-V		TOT 30									
			THEORY 2	PRAC 1	C	G	GP	C*GP	THEORY 2	PRAC 1	C	G	GP	C*GP	PRAC 3	C	G	GP	C*GP	PRAC 3		C	G	GP	C*GP	PRAC 18	C	G	GP	äC
43:	MEDICAL LAB. TECHNOLOGY		COURSE I : BMLT305 : CLINICAL LABORATORY OPERATIONS AND MANAGEMENT				COURSE II : BMLT308 : FOOD AND INDUSTRIAL MICROBIOLOGY				COURSE III : BMLTP306 : PROFESSIONAL TRAINING				COURSE IV : BMLTP307 : PROJECT WORK				COURSE V : BMLTP309 : SKILL COMPONENT - III											
3018969	/SHAIKH NAZMA MOHAMD MAIRAJULISLA	VIKAS- VIKHROLI	44	10	54	2 B	6	12	35	11	46	2 C	5	10	151	3 A+	9	27	142	3 A+	9	27								P
(O.2462)	M DILARAA KHATO	VIKAS- VIKHROLI			29	1 B+	7	7		34	1 A	8	8	462	18 A+	9	162							30	253				8.43	
Semester I -CREDIT:30 GP:231 SGPI1: 7.70			Semester II -CREDIT :30 GP:196 SGPI2: 6.53				Semester III -CREDIT :30 GP:232 SGPI3: 7.73				Semester IV -CREDIT:30 GP:262 SGPI4: 8.73				Semester V -CREDIT :30 GP:209 SGPI5: 6.97				Semester VI -CREDIT :30 GP: 0 SGPI6: 8.43		FINAL CGPI 7.68									
3018970	/SHAIKH SAIBA AKLEEM ZAHIDA BUGAM	VIKAS- VIKHROLI	43	12	55	2 B+	7	14	31	10	41	2 D	4	8	143	3 A+	9	27	137	3 A	8	24							P	
(O.2462)					39	1 A+	9	9		43	1 O	10	10	485	18 O	10	180							30	272				9.07	
Semester I -CREDIT:30 GP:236 SGPI1: 7.87			Semester II -CREDIT :30 GP:130 SGPI2: 4.33				Semester III -CREDIT :30 GP:168 SGPI3: 5.60				Semester IV -CREDIT:30 GP:240 SGPI4: 8.00				Semester V -CREDIT :30 GP:171 SGPI5: 5.70				Semester VI -CREDIT :30 GP: 0 SGPI6: 9.07		FINAL CGPI 6.76									
3018971	/SHARMA SWATI DINESH VIJAYLAXMI	VIKAS- VIKHROLI	65	22	87	2 O	10	20	61	22	83	2 O	10	20	149	3 A+	9	27	165	3 O	10	30							P	
(O.2462)					43	1 O	10	10		40	1 O	10	10	512	18 O	10	180							30	297				9.90	
Semester I -CREDIT:30 GP:225 SGPI1: 7.50			Semester II -CREDIT :30 GP:236 SGPI2: 7.87				Semester III -CREDIT :30 GP:284 SGPI3: 9.47				Semester IV -CREDIT:30 GP:296 SGPI4: 9.87				Semester V -CREDIT :30 GP:275 SGPI5: 9.17				Semester VI -CREDIT :30 GP: 0 SGPI6: 9.90		FINAL CGPI 8.96									
3018972	SHUKLA AVINASH SANJAY RENU	VIKAS- VIKHROLI	53E	13E	66	2 A	8	16	19F	12E	--	--	--	--	175E	3 O	10	30	161E	3 O	10	30							F	
(O.2462)					41E	1 O	10	10		42E	1 O	10	10	516E	18 O	10	180							28	276			--		
Semester I -CREDIT:30 GP:231 SGPI1: 7.70			Semester II -CREDIT :30 GP:183 SGPI2: 6.10				Semester III -CREDIT :30 GP:190 SGPI3: 6.33				Semester IV -CREDIT:30 GP:268 SGPI4: 8.93				Semester V -CREDIT :30 GP:216 SGPI5: 7.20				Semester VI -CREDIT :---											
3018973	/SIDDIQUE SHIFA MOHAMMAD TALIB YA	VIKAS- VIKHROLI	60	20	80	2 O	10	20	51	20	71	2 A+	9	18	165	3 O	10	30	156	3 A+	9	27							P	
(O.2462)	SMEEN				40	1 O	10	10		44	1 O	10	10	510	18 O	10	180							30	295				9.83	
Semester I -CREDIT:30 GP:244 SGPI1: 8.13			Semester II -CREDIT :30 GP:256 SGPI2: 8.53				Semester III -CREDIT :30 GP:284 SGPI3: 9.47				Semester IV -CREDIT:30 GP:294 SGPI4: 9.80				Semester V -CREDIT :30 GP:287 SGPI5: 9.57				Semester VI -CREDIT :30 GP: 0 SGPI6: 9.83		FINAL CGPI 9.22									
3018974	/SIDDIQUI SANIYA MOHD RAJU RAZIA	VIKAS- VIKHROLI	40	10	50	2 B	6	12	32	10	42	2 D	4	8	153	3 A+	9	27	146	3 A+	9	27							P	
(O.2462)					34	1 A	8	8		33	1 A	8	8	501	18 O	10	180							30	270				9.00	
Semester I -CREDIT:30 GP:236 SGPI1: 7.87			Semester II -CREDIT :30 GP:177 SGPI2: 5.90				Semester III -CREDIT :30 GP:190 SGPI3: 6.33				Semester IV -CREDIT:30 GP:254 SGPI4: 8.47				Semester V -CREDIT :30 GP:217 SGPI5: 7.23				Semester VI -CREDIT :30 GP: 0 SGPI6: 9.00		FINAL CGPI 7.47									
/ - FEMALE, # - 0.229 ,@ - 0.5042, * - 5045 , ADC - ADMISSION CANCELLED, RR-RESERVED, --:Fails in Theory or Practical,RPV - PROVISIONAL, RCC - 0.5050, A,ABS - ABSENT , F - FAILS, P - PASSES, NULL-NULL & VOID G:grade GP:grade points C:credits CP:credit points äCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668 äC:sum of credit points GPA: äCG /äC MARKS : >=80 >=70 and <80 >=60 and <70 >=55 and <60 >=50 and <55 >=45 and <50 >=40 and <45 <40 GRADE : 0 A+ A B+ B C D F GRADE POINT : 10 9 8 7 6 5 4 0																														

SEAT NO	NAME	COURSE-I					COURSE-II					COURSE-III					COURSE-IV					COURSE-V					TOT 30							
		THEORY	PRAC	C	G	GP	THEORY	PRAC	C	G	GP	THEORY	PRAC	C	G	GP	THEORY	PRAC	C	G	GP	THEORY	PRAC	C	G	GP		äC	äCG	RSLT				
COLLEGE		75/30	25/10	100	PRAC 1	GP	75/30	25/10	100	PRAC 1	GP	200/80	PRAC 3	C	G	GP	200/80	PRAC 3	C	G	GP	200/80	PRAC 3	C	G	GP	600/450	C	G	GP	äC	äCG	GPA	GRADE
43: MEDICAL LAB. TECHNOLOGY		COURSE I :BMLT305 :CLINICAL LABORATORY OPERATIONS AND MANAGEMENT										COURSE II :BMLT308 :FOOD AND INDUSTRIAL MICROBIOLOGY																						
		COURSE III : BMLTP306 : PROFESSIONAL TRAINING										COURSE IV : BMLTP307 : PROJECT WORK										COURSE V : BMLTP309 : SKILL COMPONENT - III												
3018975 /SINGH VINEETA OMPRAKASH RITA (O.2462)	VIKAS- VIKHROLI	47	14	61	2 A	8 16	32	10	42	2 D	4 8	135	3 A	8 24			151	3 A+	9 27															P
				28	1 B+	7 7			38	1 A+	9 9	461	18 A+	9 162																				8.43
Semester I -CREDIT:30 GP:243 SGPI1: 8.10		Semester II -CREDIT :30 GP:194 SGPI2: 6.47					Semester III -CREDIT :30 GP:204 SGPI3: 6.80					Semester IV -CREDIT:30 GP:262 SGPI4: 8.73					Semester V -CREDIT :30 GP:236 SGPI5: 7.87					Semester VI -CREDIT :30 GP: 0 SGPI6: 8.43					FINAL CGPI 7.73							
3018976 /THIK PRIYA SHAHU SHALINI (O.2462)	VIKAS- VIKHROLI	72	17	89	2 O	10 20	64	19	83	2 O	10 20	179	3 O	10 30			155	3 A+	9 27															P
				47	1 O	10 10			44	1 O	10 10	531	18 O	10 180																				9.90
Semester I -CREDIT:30 GP:244 SGPI1: 8.13		Semester II -CREDIT :30 GP:270 SGPI2: 9.00					Semester III -CREDIT :30 GP:284 SGPI3: 9.47					Semester IV -CREDIT:30 GP:294 SGPI4: 9.80					Semester V -CREDIT :30 GP:289 SGPI5: 9.63					Semester VI -CREDIT :30 GP: 0 SGPI6: 9.90					FINAL CGPI 9.32							
3018977 TRIMUKHE ADITYA PRAKASH LAXMI (O.2462)	VIKAS- VIKHROLI	43	15	58	2 B+	7 14	35	14	49	2 C	5 10	143	3 A+	9 27			148	3 A+	9 27															P
				39	1 A+	9 9			35	1 A+	9 9	491	18 O	10 180																				9.20
Semester I -CREDIT:30 GP:209 SGPI1: 6.97		Semester II -CREDIT :30 GP:144 SGPI2: 4.80					Semester III -CREDIT :30 GP:176 SGPI3: 5.87					Semester IV -CREDIT:30 GP:246 SGPI4: 8.20					Semester V -CREDIT :30 GP:225 SGPI5: 7.50					Semester VI -CREDIT :30 GP: 0 SGPI6: 9.20					FINAL CGPI 7.09							
3018978 /TUPSUNDAR VARSHA NAMDEV VANDANA (O.2462)	VIKAS- VIKHROLI	24F	05F	--	--	--	--	11F	04F	--	--	133E	3 A	8 24			105E	3 B	6 18															F
				22E	1 D	4 4			23E	1 C	5 5	453E	18 A+	9 162																				--
Semester I -CREDIT:30 GP:258 SGPI1: 8.60		Semester II -CREDIT :30 GP:185 SGPI2: 6.17					Semester III -CREDIT : ---					Semester IV -CREDIT : ---					Semester V -CREDIT : ---					Semester VI -CREDIT : ---												
3018979 /YADAV KHUSHI DEENANATH ANITA (O.2462)	VIKAS- VIKHROLI	53	12	65	2 A	8 16	49	10	59	2 B+	7 14	159	3 O	10 30			143	3 A+	9 27															P
				30	1 A	8 8			41	1 O	10 10	496	18 O	10 180																				9.50
Semester I -CREDIT:30 GP:258 SGPI1: 8.60		Semester II -CREDIT :30 GP:251 SGPI2: 8.37					Semester III -CREDIT :30 GP:250 SGPI3: 8.33					Semester IV -CREDIT:30 GP:284 SGPI4: 9.47					Semester V -CREDIT :30 GP:258 SGPI5: 8.60					Semester VI -CREDIT :30 GP: 0 SGPI6: 9.50					FINAL CGPI 8.81							
3018980 /YADAV KOMAL NAROTTAM SARITA DEVI (O.2462)	VIKAS- VIKHROLI	37E	10E	47	2 C	5 10	21F	12E	--	--	--	151E	3 A+	9 27			126E	3 A	8 24															F
				27E	1 B	6 6			38E	1 A+	9 9	495E	18 O	10 180																				--
Semester I -CREDIT:30 GP:225 SGPI1: 7.50		Semester II -CREDIT :30 GP:147 SGPI2: 4.90					Semester III -CREDIT :30 GP:166 SGPI3: 5.53					Semester IV -CREDIT:30 GP:246 SGPI4: 8.20					Semester V -CREDIT :30 GP:194 SGPI5: 6.47					Semester VI -CREDIT : ---												

/ - FEMALE, # - 0.229 ,@ - 0.5042, \* - 5045, ADC - ADMISSION CANCELLED, RR-RESERVED, --:Fails in Theory or Practical,RPV - PROVISIONAL, RCC - 0.5050, A,ABS - ABSENT, F - FAILS, P - PASSES, NULL-NULL & VOID  
G:grade GP:gradepoints C:credits CP:credit points äCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668

äC:sum of credit points GPA: äCG /äC  
MARKS : >=80 >=70 and <80 >=60 and <70 >=55 and <60 >=50 and <55 >=45 and <50 >=40 and <45 <40  
GRADE : 0 A+ A B+ B C D F  
GRADE POINT : 10 9 8 7 6 5 4 0



FIRST HALF 2025  
(1801916)

UNIVERSITY OF MUMBAI

-----  
RESULT STATISTICS OF THE MEDICAL LABORATORY TECHNOLOGY DEGREE SEM.- VI, (CBCGS)  
EXAMINATION HELD IN MAY 2025  
-----

REGISTERED	:	47
ADMITTED	:	47
ABSENT	:	NIL
APPEARED	:	47
PASSED	:	31
FAILED	:	16
PASS PERCENTAGE	:	65.96 %

MUMBAI-400 098  
JUNE 20, 2025

DR. POOJA RAUNDALE  
DIRECTOR,  
BOARD OF EXAMINATIONS AND EVALUATION

